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(v)

c=3x 108 m/s
h=6.63x1073*Js
e=1.6x1019C
Hy=41tx 107 TmA™!

g,=8.854 x 10712C2 N m™?

1
——=9x 10° Nm?2 C2
4n£0

m,=9.1x 103! kg

=2 T FFHH = 1.675 x 10727 kg
e 1 FME = 1.673 x 1027 kg
STMEANTIRT F& = 6.023 x 1023 i ur Hiet

SIS e = 1.38 x 10723 JK!

General Instructions :

5572

(i)
(ii)

(iii)

(iv)

(v)

All questions are compulsory. There are 26 questions in all.

This question paper has five sections : Section A, Section B, Section C, Section D
and Section E.

Section A contains five questions of one mark each, Section B contains five
questions of two marks each, Section C contains twelve questions of three marks
each, Section D contains one value based question of four marks and Section E
contains three questions of five marks each.

There is no overall choice. However, an internal choice has been provided in one
question of two marks, one question of three marks and all the three questions of
five marks weightage. You have to attempt only one of the choices in such
questions.

You may use the following values of physical constants wherever necessary :
c=3x 108 m/s

h=6.63x107317s

e=16x10"1C

Hy=41tx 107 TmA™!

g,=8.854 x 10712C2 N~ m™?

1
——=9x 10° Nm?2 C2
4n£0

m,=9.1x 103! kg
mass of neutron = 1.675 x 1027 kg
mass of proton = 1.673 x 10727 kg

Avogadro’s number = 6.023 x 1023 per gram mole
Boltzmann constant = 1.38 x 10723 JK~!
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Section — A

1. ot Qenfer ot fordl gt Tt & AC i 9 TS 621 721 € | a5 AC & i 21gra
H2T S ST, A o fereno Ry aiafad en S 2 1

A variable frequency AC source is connected to a capacitor. Will the displacement
current change if the frequency of the AC source is decreased ?

2. NAND 72 % T Weils QiU 3R T8 FeadH= GRof ST | 1
Draw the logic symbol of NAND gate and give its Truth Table.

3. AC 9 i g § uRee o |1 e ufdend § foeror @i g9 & forw ure wifew | 1

Plot a graph showing variation of capacitive reactance with the change in the frequency
of the AC source.

4. 3 HigeW 3iiY Mg Hige & o [g9e iy | 1

Distinguish between amplitude modulation and frequency modulation.

5. ot arers & qafave g & et fag oY famga & Y@l U o oiead 3 gl € 2 1

Why are electric field lines perpendicular at a point on an equipotential surface of a
conductor ?

cL i)

Section — B

6. Too1 § S9NT T UiaRiEehT o "o §RT ded T T gRT GRehiold ShirsT | 2
20
A%

A 1Q 50 p 4Q
AN A AN

C

L
|
4V

Calculate the current drawn from the battery by the network of resistors shown in the

figure.

2Q
MY
D

A 1Q 50 40
AN A AV

C

v
5572 3 [P.T.O.



5572

20 cm 9T oTet Tl SR o TTad 1A 9RT yefed & W@ &, i o6l 3 oralg o drd
AR S 2A 4R veried 81 @1 & % (e fomt o 39T SEr Sae oot | @l T e |
2A

S S
rd 7

é%i 1A T
A Y 20 @
R
20 Gt
YRTAE! FTeteh % SHRUT o0 TX TR 2 Fe7 bl TRATT 7R f59m aRepferd i |

YT

200 TR 3T 100 cm? &Fe i fohdl aiehR THA FUSell W SA 3TN R Jated & &l
T | 7€ Puget 0.2 T % UH UHaaH b &4 o e &, et fKon svselt & act &
AT & | ST T FUSHA I Aol B & T 60° T HIVT I & e 39 feafq H poeet
T T TA-STg0T IReBTeTd i | 7Fe T 5 =g Foeel SRl arereeen | g 2

A square loop of side 20 cm carrying current of 1A is kept near an infinite long
straight wire carrying a current of 2A in the same plane as shown in the figure.

2A
10$ 1A
cm > 1\
N Y 20 cm
20 cm

Calculate the magnitude and direction of the net force exerted on the loop due to the
current carrying conductor.

OR

A square shaped plane coil of area 100 cm? of 200 turns carries a steady current of SA.
It is placed in a uniform magnetic field of 0.2 T acting perpendicular to the plane of
the coil. Calculate the torque on the coil when its plane makes an angle of 60° with the
direction of the field. In which orientation will the coil be in stable equilibrium ?

37 A grIehid Tafehon 1 AW fAf@u (i) e SuEhT HE ® SIS Hf T wRA |
femalT ST €, (ii) TSI oo 1% 37 =Bl &1 STl €, (iii) oo ol ST oF1E 3@ © |

=0 9§ g} Ush U ot T bl 3= i i fafy 1 &g § 9o shifeg |

Name the types of e.m. radiations which (i) are used in destroying cancer cells,
(i1) cause tanning of the skin and (iii) maintain the earth’s warmth.

Write briefly a method of producing any one of these waves.
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9. ool ¥ eTEgS URA] S STl TR SR I 77 € 2
(a) & THAT AT HISTY FTTH 496 nm TR o B2 T SeHoH &Il § |

n=4
A 4 n:3
v n:2
A 4 A Al 4 1’1:1
(b) T THAUT F T SR dT TR & AT SIS B & 2 310 SR B giee

HIT |

The figure shows energy level diagram of hydrogen atom.
(a) Find out the transition which results in the emission of a photon of wavelength
496 nm.

n=4

¥ n=3

=
I
NS}

A 4 vV Vv

n=1
(b)  Which transition corresponds to the emission of radiation of maximum
wavelength ? Justify your answer.

10. ‘WW’@WWWSIWW@|%@ﬁ&i‘>rﬁ>=3x103§N/Cé»‘W
WlOcmHﬁTWﬁ@g\ﬂHdmlWOW%M#I%,WN?%Q@EQVWWW%| 2

Define the term ‘electric flux’. Write its SI units. What is the flux due to electric field

- A —
E =3 x 10% i N/C through a square of side 10 cm, when it is held normal to E ?

s -9
Section — C
11. 3T HE-ETFA 1.6 X 10 m? 3R FHHT TE-I AU TT 2000 T 1 TRATCTR STa"
4.0 A 4R YeTTed & @ € 0P s H Bl Faited € 3R g st aot § g9 Fehdl § |
(i) 39 URATeTR & Heag TEHE S0, (i) A URATCTR & 3T T 30° HUT W HE
7.5 x 1072 T &1 & q=ohid &1 Fared a1 T €, o URATdT 0 & Sol-3TTEOT
aRHToT Y TS AT i | 3

A closely wound solenoid of 2000 turns and cross sectional area 1.6 x 10~*m? carrying
a current of 4.0 A is suspended through its centre allowing it to turn in a horizontal
plane. Find (i) the magnetic moment associated with the solenoid, (ii) magnitude and
direction of the torque on the solenoid if a horizontal magnetic field of 7.5 x 1072 T is
set up at an angle of 30° with the axis of the solenoid.

5572 5 [P.T.O.




12.

13.

14.

15.
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(a)
(b)

(a)

(b)

(a)
(b)

(a)
(b)

(a)

(b)

(a)
(b)

(a)

(b)
©
(a)

(b)
(©

I & fgferdt v o <1 fafat ot @erg 1 U 4:1 & | Sfaeor ted 7 s oiv
fAfETee =t dierarett o 31U T Jodieh HifT |

7 ATTHIOT G2 T THBIAT AR et B fo@re <, fopddt off &9 1, St geeqor fa9
T Socie & 7 SARAT HITT |

The ratio of the widths of two slits in Young’s double slit experiment is 4 : 1.
Evaluate the ratio of intensities at maxima and minima in the interference
pattern.

Does the appearance of bright and dark fringes in the interference pattern
violate, in any way, conservation of energy ? Explain.

31 HRH I Tafay ek 511 TSt SXaeieh 6t favie &T0ar H g &6l ST Tl € |

| mm TS o Thel ol W 5a fe’l & ARTer=ad 600 nm TUSE T Wehlel 30
AT &, AT Tk HROT W e Ued & U ife teae i g Hiie HiEe &
S I YR T ST HioTT |

Write the factors by which the resolving power of a telescope can be increased.
Estimate the angular separation between first order maximum and third order
minimum of the diffraction pattern due to a single slit of width 1 mm, when light
of wavelength 600 nm is incident normal on it.

HTHROT T i o %A 1 Jorl H 3TeS! UTT o GIoRigel o a oeal Sl Jraehdl
T SY S & ? HROT T TL HIFAT |

= AIeRES! P, 91 P, i i Rkl § W@ T e | P 3R P, % e wiE e
AIeRTAE P, 39 YR T@T Sl ¢ o P, 1 WIRd %7 P| % §HR & | P, ¥ qRea
TERRT I AT (1) P, 1 G0H X 0 o6 Wb AReR &l 2 P 3 P, % uRa 3wt
& d 0T *9° S Ao ‘L, o S Wk Wity |

Good quality sun-glasses made of polaroids are preferred over ordinary coloured
glasses. Justifying your answer.

Two polaroids P, and P, are placed in crossed positions. A third polaroid P; is
kept between P, and P, such that pass axis of P, is parallel to that of P,. How

would the intensity of light (I,) transmitted through P, vary as P, is rotated ?
Draw a plot of intensity ‘I,” Vs the angle ‘0’, between pass axes of P, and P;.

e 31 Tl Aeh SifsEaTe St g it
: 208 204
(1) 84Po—)Ssz+...
(i) 2P oS+ ..
(i) B~ 3R (ii) B & & ToTT SRS AN § ST ol WishaT iy |
AT T UTAIRTeR GE e F T T 2
Complete the following nuclear reactions :
: 208 204
(1) 84Po—)Ssz+...
s 32 32
(i1) 15P - 16S + ...
Write the basic process involved in nuclei responsible for (i) B~ and
(i) B* decay.
Why is it found experimentally difficult to detect neutrinos ?
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16. @@ T > 0K W (i) n-TR 3R (ii) p-UehR o STEATAHT & SHoll-a08 ARG TNy |
n-UR o USHUT H Si-STEATeh! & Holl-d0g 3G H Il ol WK dTeish SUg i dqetl o F
T T p-UBR F STHACID § U Soll TR IS 98 & oY F $8 W el & | T
FHIT T =TeTeh 3R TSt SUST H 37 Soll-&Xi sht o Tl Blell € | 3
Draw the energy band diagrams of (i) n-type and (ii) p-type semiconductor at
temperature, T > OK.

In the case n-type Si semiconductor, the donor energy level is slightly below the
bottom of conduction band whereas in p-type semiconductor, the acceptor energy level
is slightly above the top of the valence band. Explain, what role do these energy levels
play in conduction and valence bands.

17.  STROT AT (V) SRV, % ae) i A6 B0 S 0T 6 30 SATARI07 1 I 91 A0
T % ToIT ST o ST & 31K o= 2 3
ol eMYR Srafaa ZisTeY Yads 1 CE fomard o Uiy e d@ifey 3 98T o sqeh
FHTATaTY I ST HAST |
Draw a plot of transfer characteristic (V, vs V,) and show which portion of the
characteristic is used in amplification and why ?

Draw the circuit diagram of base bias transistor amplifier in CE configuration and
briefly explain its working.

18. T % IWAN H Al ST T TR} & AT HiW - 3
() e afmaT
(i)  IPTeT FeathT
(i) A
Explain the following terms in relation to the use of internet :
(1) Internet surfing

(1))  Social networking
(iii)) E-mail

19. (a) Torell =oTe o vETled ORI 3R SoTa % AT o V) % aid ¥oy oo Hitg | 3

(b) To= H ol OR & SR I F Valed &R ‘[ 3R T9F ¢ % S U ST T |
TG T 1 ST ¥k AR H 10s T Jefed STee AT i |

I(AYA
N

0 5 10 s
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20.

21.

22.
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(a) Deduce the relation between current I flowing through a conductor and drift
velocity V of the electrons.

(b) Figure shows a plot of current ‘I’ flowing through the cross-section of a wire
versus the time ‘t’. Use the plot to find the charge flowing in 10s through the

wire.
(A
N

0 5 10 s

ot TiefemaiHicT 1 URuY TG Eieehy 39T HEHR [Fg @y | &7 Joil &f emf
T B | THHT STANT g TR Tohal STl € THehT Ui i oell STavdsh g Fca—~

HIT |
arar

RT3 I TEdl ¥ HieX Uq o HIEHRT (GG hl SR AT | TR STANT fohalt fqw
T AR 1 3T Wiy Feiia s o 69 UepR fohar ST & 2 afom § <gaa| Jfe & fou
A ST el SEvas Qa2 faray |

Draw a circuit diagram of a potentiometer. State its working principle. Derive the
necessary formula to describe how it is used to compare the emfs of the two cells.

OR
With the help of the circuit diagram, explain the working principle of meter bridge.
How is it used to determine the unknown resistance of a given wire ? Write the
necessary precautions to minimize the error in the result.

(a) ToRdl =TT Fuee Hoortey ¥ g & o (3rE) Fai s S § 2 99ERl a8
fehd TR ST STl & |

(b) TRl Toammer fSEeT iR ‘G’ §, i 38 AU H @ig Uiy R’ WA ek
(0-V) diee 9E & aicedied | qiefdd [ohar ST Gehar © | 3 38 0 9 V/2 9 &
ey T URatad ST &, df fohd- Uale bt TTaeashdl gr 2

(a) Why is the magnetic field radial in a moving coil galvanometer ? Explain how it
is achieved.

(b) A galvanometer of resistance ‘G’ can be converted into a voltmeter of range
(0-V) volts by connecting a resistance ‘R’ in series with it. How much resistance
will be required to change its range from O to V/2 ?

fHH ac A V = V,, sin ot % AG HI A R X FEiE C’ % 407 TEe 9 gt
T ¥ | 59 U SR e Wifay 3T 9kt SUANT (i) TR st uidqemen 3R (i) Her-shior
% ToTT =isTeh U e H iy |

A source of ac voltage V =V, sin ot is connected to a series combination of a resistor

‘R’ and a capacitor ‘C’. Draw the phasor diagram and use it to obtain the expression
for (1) impedance of the circuit and (ii) phase angle.

8



23.

24.
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qgug -
Section - D

e & g8 & R 9% 9 & fauen oA wefeta & W TRy Mt 39 3@
3T TG Bl TS o TTeF ToIToll T ol & | S IRT & feTT g SUgeRd = el et
R | S S ST AR § O R W TR W & S e Fedl B @1 3R 3% Sl BR H
S T WS A1, T8l T8l S T Seal il I BN % ehe i aedl | oigl | faren &
HIAT-ToT S feme il 3IR o T8 9, I8 ST 31X 32 <. YT 1 3R e R |

(1) & HYT 3T AT & AT 517 75 Godt =l ST 747 2

) faemeRt dfed i T & THT HR % HR ST GRITT F AT ST € 2

(3)  “URTERT WM UF i URETT ey | g o ghed e § 2

Immediately after school hour, as Bimla with her friends came out, they noticed that
there was a sudden thunderstorm accompanied by the lightening. They could not find
any suitable place for shelter. Dr. Kapoor who was passing thereby in his car noticed
these children and offered them to come in their car. He even took care to drop them to

the locality where they were staying. Bimla’s parents, who were waiting, saw this and
expressed their gratitude to Dr. Kapoor.

(1) What values did Dr. Kapoor and Bimla’s parents displayed ?

(2) Why is it considered safe to be inside a car especially during lightening and
thunderstorm ?

(3) Define the term ‘dielectric strength’. What does this term signify ?

qug g
Section - E

(a) T T AR fAfan | 7 foor @ g v = € 2
(b) i 3T T U THUT o ToTT T i SThf 39IET |
() Tt fomg |1 | UhTeT T STIEIRA BT |
(i) T forg A ot 3T o1 & BIhd W &, I o T U1l 17T &l g0

(i) BT & Tgctaes TRATeR o 70T T IUFNT <t g, Te- Oreqy ¥ favet Aream
T Tl AU TUTY % THE ol 9T o oY 3TRE Wity |

YT

(a) Tohdl T GeHSRT §RT Uidiens ST SR o fog foheor eie wiftow | 39 feafa o
P T & feAT SHoTeh U HifSTT ST Ui e S 0 ST & |

(b) TordT g GeHael ht fave aTar fohd v wifad it &, ST
() ACITH o BIHT U T STl & |
(i) VRIS i aRTsed ATeeh &l el & 2
3T I I YT HROT Tied HIT |
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25.
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(a)
(b)

(a)
(b)

(a)

(b)

(a)

(b)

(©

(a)

Define a wavefront. How is it different from a ray ?

Depict the shape of a wavefront in each of the following cases.

(1) Light diverging from point source.

(1)) Light emerging out of a convex lens when a point source is placed at its
focus.

(1) Using Huygen’s construction of secondary wavelets, draw a diagram
showing the passage of a plane wavefront from a denser into a rarer
medium.

OR

Draw a ray diagram showing the image formation by a compound microscope.

Obtain expression for total magnification when the image is formed at infinity.

How does the resolving power of a compound microscope get affected, when

(1)  focal length of the objective is decreased.

(1)) the wavelength of light is increased ?

Give reasons to justify your answer.

THRI-faRa e o 39 A Uled eTyeteTon bt faifau el smer uehtet o ad

a1 §RT &l &l ST Heahel! |

T HIT o SMERA & TehI-Tagd THIGHOT T ST T T U A &

forw foh UepR o ST 7

o= ¥ 51 TehIT-gUE! TETE M|, @ M, % FIq St fefeRton @t ST (v) SR R

ferter (V) o el T SR101 T € | T2 hifo o

()  IHT @3l I EAH THA Fi ¢ 2

(i) 3t fafeeon =6 e 3Tghd & foft v uxTel & IafTd gl i Tt
o1 S § 2

S

O<

rerar >
TIHE & YDV TN | TI-ANIE & FoA™l &5 F o-F0l FRT SRAGT Tei9-0
HITaw 3T T HINT (o [T ThR g8 FRT AN o QresT Sl STTH THIET T4 |
TeIT § U IS foh TMAHM Soiae T bt a0 Yhid WIS €9 9 fHg TR TEiT
Eakicil
ST QYA 3 o-FHT 3t AR TR STateti ¥ 99 @R fovg, vV & gRT @iRka
feRaT ST €, o 399 Tag 3 el JOTeeAt o SFUT ol ATt HiteT |

Write three observed features of photoelectric effect which cannot be explained
by wave theory of light.

Explain how Einstein’s photoelectric equation is used to describe these features
satisfactorily.

10



(b) Figure shows a plot of stopping potential (V) with frequency (v) of incident
radiation for two photosensitive materials M; and M,. Explain

(1)  why the slope of both the lines is same ?

(i1) for which material emitted electrons have greater kinetic energy for the

same frequency of incident radiation ?
N

O<

OR

(a) In Rutherford scattering experiment, draw the trajectory traced by o-particles in
the coulomb field of target nucleus and explain how this led to estimate the size
of the nucleus.

(b) Describe briefly how wave nature of moving electrons was established
experimentally.

(c) Estimate the ratio of de-Broglie wavelengths associated with deuterons and
o-particles when they are accelerated from rest through the same accelerating
potential V.

26. (a) T 1 A fAfET | A &Y T Rl W HeTRA Sl gEoT S STAN e § 39
T TGN HT | 5

A

S N B

—
(b) T HAA 1800 krv/h T =TeA § Ufy=w e § TR I @I E |
() 3 9 STe a8 T R T & SR G o grehd &5 S AR 5 x 1074 T 3R At
0T 30° &, A 25 m foRdR 3 Sieam i Tghedl & & R o e e ateedl-3i
T A T |
(i) AT ST i e ufvem ¥ I H ST & S, aF Sca=T dieeal T T H9Te IS 2
rerar
FUESTAT & I o ST IRehedl bl IR feAf@gn X 57 Repl T e TR e &
IHT 30 HIT |
o & IRIMT AR 20 cm ST A1 HE F-T 0.1 T & THAHAN DT &7 5 T
& T IR H 30 cm 30 W E | 3% U991 39 I 3R 10 cm s~ % 9 F 39 9HT
T T HUEAT ST &, 56 o o6 98 28 &5 o TTe &5 9 &6 el f=ehed S |
e 5T T fo=ron =t g9 % e o S
(i) TEA (t) & I T F ToRA el I Fotad (¢) T faeror

5572 11 [P.T.O.
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(i) TET (t) & I 9 H URA emf (g)

(i) 9 o T ufeRy 0.1 Q &, o o9 § IR &RT 7 foreron

x—x—x—x/?/Bw:ﬁ
|

IOCm/sx_X_X_X_><
— |

X—X—X— X—X
30 cm_ | |
20 cm —X—X—X—-—X
«—> | |
X—X—X—X—X

«—— 80cm ——>

—>

(a) State Lenz’s law. Use it to predict the polarity of the capacitor in the situation

given below :

S N

—

A
B

(b) A jet plane is travelling towards west at a speed of 1800 km/h.

(i) Estimate voltage difference developed between the ends of the wing
having a span of 25 m if the Earth’s magnetic field at the location has a

magnitude of

5% 107 T and dip angle is 30°.

(i) How will the voltage developed be affected if the jet changes its direction

from west to north ?
OR

Define mutual inductance of a pair of coils and write on which factors does it

depend.

A square loop of side 20 cm is initially kept 30 cm away from a region of
uniform magnetic field of 0.1 T as shown in the figure. It is then moved towards
the right with a velocity of 10 cm s~! till it goes out of the field.

Plot a graph showing the variation of

(1)  magnetic flux (¢) through the loop with time (t).

(i1) induced emf (€) in the loop with time t.

(i11)) induced current in the loop if it has resistance of 0.1 Q.

X —X—X— X — BJ_down
I
10 cm/s X — X—X—X—X
— |
X—X—X—X—X
30 cm_ | I
20 cm —X—X—-—X—-—X
«—> I I

X—X—X—X—X

¢«<—— 80cm ——>
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